
1 

UTCustom ICE BATTERY MOUNT 
RIGID FRAME/ NO REAR SUSPENSION 

 
PARTS LIST: 

● 1: QTY 1-UT Custom Battery Mount Sled Bracket 
● 2: QTY 1-UT Custom Battery Support Arm 
● 3: QTY 1-UT Custom Rigid Lower Battery Mount 
● 4: QTY 2-UT Custom Rigid Battery Frame Clamps 
● 5: QTY 2-UT Custom Battery Sled Spacers 
● 6: QTY 1- M5x40 Bolt 
● 7: QTY 1-M5 Washer 
● 8: QTY 4-M5x20mm Bolts 
● 9: QTY 2-M6 Washers 
● 10: QTY 2-M6 Nuts 
● 11: QTY 2-M6x35 Button Heads 
● 12: QTY 1-M8x20 Button Head 
● 13: QTY 1-20mm Spacer 
PLEASE MAKE SURE ALL HARDWARE LISTED IS INCLUDED BEFORE ASSEMBLY

 



2 

 
Start assembly with the battery frame clamps. These clamp to the crossbar on the rear fork. 
(pictured below) Use 4 5x20mm bolts for this. There is a large and small side to this clamp. The 
smaller side of the clamp is the side that clamps to the frame of the trike. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



3 

Next install the Lower battery mount into the larger side of the clamp. (pictured below) Once you 
have the clamps installed on the frame and the lower mount installed, tighten all the hardware 
on the clamps. 

 
 



4 

 
 
 
 
 
 
 
 
 
 
 
 
 
Next, install the UTCustom Battery Support Arm using the M8x20 button head on the lower 
mount, and the M5x40 bolt and 20mm spacer (depending on application) in the threaded hole 
on the frame (pictured below) 

 
 
 
 
 
 
 
 
 



5 

 
Next, install the UTCustom Battery Mount Sled Bracket to the support arm. There is a slotted 
hole that this bracket will mount to. This allows you to angle the bracket for your application. 
(pictured below) 
Use the M6x20 and bolts and sled spacers for this bracket. 

 
 
 
Make sure everything is tight and secure before installing the battery, and riding. 
 
If you have any further questions or concerns, please give us a call at 866-446-2065 or email 
trikes@utahtrikes.com 
 
 
 
 
 

 


